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1. Assign the point group to the following molecules. (12 pts)
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2. What is the state symbol (including spin multiplicity) for the following electronic
configurations of molecules with D,, symmetry? (10 pts)
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3. Sketch the d-orbital spilling for the following complexes. Make sure you have
labeled the orbitals and filled in the electrons. (16 pts)
(a) PtCl*
(b)  MnOy
(c) CO(HZO)62+
(d)  Mo(CO)s

4. The spectrum of [V(H,0)]"" is shown
below. Using &’ Tanabe-Sugano diagram,
assign the absorption bands and find out
the 10Dq of this complex. (Must show
your work). (12 pts)
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